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SYSTEM OF CIRLES

Solved Examples

1. The radical axis of the circles

 is

A. x-y = 0

B. 

C. 

D. x + 10y - 2 = 0

Answer: A

x2 + y2 + 4x + 8y + 19 = 0, x2 + y2 + 8x + 4y + 19 = 0

5x − 9y − 5 = 0

3y + 1 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_J0UFHh0NyyxE


Watch Video Solution

2. The length of the common chord of the two circles

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − 3)2 + (y − 5)2 = 72, (x − 5)2 + (y − 3)2 = 72

√47

2√47

3√47

4√47

3. The radical centre of the circles

is

x2 + y2 − 2x + 6y = 0, x2 + y2 − 4x − 2y + 6 = 0, x2 + y2 − 12x + 12y +

https://dl.doubtnut.com/l/_J0UFHh0NyyxE
https://dl.doubtnut.com/l/_ibO1M4cIscfa
https://dl.doubtnut.com/l/_cNtbzBBONXs4


A. (3,1)

B. (3,0)

C. (1,3)

D. (0,3)

Answer: B

Watch Video Solution

4. If (0,-3) is one limiting point of a coaxal system of circles

 is a member , then the other limiting point is

A. (-2,-2)

B. (2,1)

C. (6,5)

D. (5,3)

Answer: A

x2 + y2 + 4y + 7 = 0

https://dl.doubtnut.com/l/_cNtbzBBONXs4
https://dl.doubtnut.com/l/_4vOTAwnTG1ky


View Text Solution

5. If (2,-1) , (-3,2) are the limiting points of a coaxal system , then the

equation of the circle in its conjugate system having minimum are is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − x + y + 3 = 0

x2 + y2 + x − y − 8 = 0

x2 + y2 + 2x − 3y − 5 = 0

x2 + y2 − 4x + 6y − 12 = 0

6. A(2,3) and B(-7, -12) are conjuigate point w.r.t

 ,. The angle between the circle S = 0 and

the circle having AB as diameter is

S = x2 + y2 − 6x − 8y − 1 = v

https://dl.doubtnut.com/l/_4vOTAwnTG1ky
https://dl.doubtnut.com/l/_V2E0lj6IE2gk
https://dl.doubtnut.com/l/_haYB3MiBXNt7


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

π

3

0

π

6

π

2

7. The equation of the circle which passes through (2,0) and whose centre

is the limit of the point of intersection of the lines 3x + 5y = 1 and

 as c tends to 1 is

A. 

B. 

C. 

D. 

(2 + c)x + 5c2y = 1

25(x2 + y2) − 20x + 2y − 60 = 0

25(x2 + y2) + 20x − 2y − 60 = 0

25(x2 + y2) − 10x − 2y − 60 = 0

x2 + y2 − 20x + 2y − 60 = 0

https://dl.doubtnut.com/l/_haYB3MiBXNt7
https://dl.doubtnut.com/l/_0NqTIJR74zSs


Exercise 1

Answer: A

View Text Solution

8. Circles with radii 3,4,5 are touching each other externally . If P is the

point of intersection of tangents to these circles at their points of

contact, the distance of P from the point of contact is

A. 

B. 

C. 4

D. 

Answer: B

Watch Video Solution

√2

√5

√7

https://dl.doubtnut.com/l/_0NqTIJR74zSs
https://dl.doubtnut.com/l/_Gdk9XqP11KNw
https://dl.doubtnut.com/l/_Z35Weiz2wxAn


1. The angle at which the circles

 in tersect is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 8x − 2y − 9 = 0, x2 + y2 − 2x + 8y − 7 = 0

π/6

π/4

π/3

π/2

2. The point (3,-4) lies on both the circles 

and  . Then the angle between the circles is :

A. 

B. 

C. 

x2 + y2 − 2x + 8y + 13 = 0

x2 + y2 − 4x + 6y + 11 = 0

60∘

tan− 1(1/2)

tan− 1(3/5)

https://dl.doubtnut.com/l/_Z35Weiz2wxAn
https://dl.doubtnut.com/l/_VbGwmb2dqL8s


D. 

Answer: D

Watch Video Solution

135∘

3. If the angle between the circlex  and 

 is , then c is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2x − 4y + c = 0

x2 + y2 − 4x − 2y + 4 = 0 60∘

3 ± √5

2

6 ± √5

2

9 ± √5

2

7 ± √5

2

https://dl.doubtnut.com/l/_VbGwmb2dqL8s
https://dl.doubtnut.com/l/_cvwmlN8jl2Kv


4. If the circles

 cut

orthogonally, then k =

A. 

B. 

C. 12

D. 15

Answer: A

Watch Video Solution

x2 + y2 − 6x − 8y + 12 = 0, x2 + y2 − 4x + 6y + k = 0

−24

24

5. If  cut

each other orthogonally , the value of k must be

A. -10

B. 1

x2 + y2 − 2x + 3y + k = 0  and x2 + y2 + 8x − 6y = 7 = 0

https://dl.doubtnut.com/l/_3pVUHWkEfFQu
https://dl.doubtnut.com/l/_qeUlGnQfHfyK


C. 5

D. -2

Answer: A

Watch Video Solution

6. If the circle cuts the circle 

 orthogonally , then f =

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2x − 2y + 4 = 0

x2 + y2 + 4x − 2fy + 2 = 0

−1

−2

https://dl.doubtnut.com/l/_qeUlGnQfHfyK
https://dl.doubtnut.com/l/_2sw5c4BaOvkA
https://dl.doubtnut.com/l/_7hIZFC3IrXMa


7. If the circle  touches the circle 

 externally and cuts the circle 

 orthogonally then k =

A. 59

B. 

C. 19

D. 

Answer: B

Watch Video Solution

x2 + y2 + 8x − 4y + c = 0

x2 + y2 + 2x + 4y − 11 = 0

x2 + y2 − 6x + 8y + k = 0

−59

−19

8. If the circles  and 

 are orthogonal then 

A. 4

B. 3

x2 + y2 − 2λx − 2y − 7 = 0

3(x2 + y2) − 8x + 29y = 0 λ =

https://dl.doubtnut.com/l/_7hIZFC3IrXMa
https://dl.doubtnut.com/l/_kw2dVL3KF3Sb


C. 2

D. 1

Answer: D

Watch Video Solution

9. The circles  cut

orthogonally if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + a)2 + (y + b)2 = a2, (x + α)2 + (y + β)2 = β2

2(aα + bβ) = b2 + α2

aα + bβ = b2 + α2

2(aα + bβ) = b2 + β2

aα + bβ = a2 + β2

https://dl.doubtnut.com/l/_kw2dVL3KF3Sb
https://dl.doubtnut.com/l/_Lvmr9tNke41a
https://dl.doubtnut.com/l/_ExG6gjnbgoie


10. If the circles of same radius a and centres (2,3), (5,6) cut orthogonally ,

then a=

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

11. If the circles of same radius a and centre (2, - 3), (-4, 5) cut orthogonally

, then a =

A. 

B. 

C. 

5√2

2√5

√2

https://dl.doubtnut.com/l/_ExG6gjnbgoie
https://dl.doubtnut.com/l/_sO7XVoLIo5CH


D. 

Answer: A

Watch Video Solution

√5

12. Find the equation of the circle which cuts orthogonally the circle

 and having a center at (2,3).

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x + 2y − 7 = 0

x2 + y2 − 4x − 6y + 9 = 0

x2 + y2 + 2x − 4y − 2 = 0

x2 + y2 + 6x − 4y + 19 = 0

3x2 + 3y2 + 2x + 12y − 2 = 0

https://dl.doubtnut.com/l/_sO7XVoLIo5CH
https://dl.doubtnut.com/l/_zVhcUJ6MdueE


13. If a circle passes through the point (a,b) and cuts the circle

 orthogonally , then the locus of its centre is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 4

2ax + 2by + (a2 + b2 + 4) = 0

2ax − 2by − (a2 + b2 + 4) = 0

2ax − 2by + (a2 + b2 + 4) = 0

2ax + 2by − (a2 + b2 + 4) = 0

14. The equation of the circle passing through (0,0) and cutting

orthogonally the circles 

is

A. 

B. 

x2 + y2 + 6x − 15 = 0, x2 + y2 − 8y + 10 = 0

2x2 + 2y2 − 10x − 5y = 0

2x2 + 2y2 + 10x + 5y = 0

https://dl.doubtnut.com/l/_p0p5GsvMUG63
https://dl.doubtnut.com/l/_KTskK5V34eZm


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 5x + 5y = 0

2x2 + 2y2 + 10x − 5y = 0

15. The equation of the circle which passes the origin and cuts

orthogonally each of the circles

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 6x + 8 = 0  and x2 + y2 − 2x − 2y = 7

3x2 + 3y2 − 8x − 13y = 0

3x2 + 3y2 + 2x − 6y − 6 = 0

3x2 + 3y2 + 8x − 29 − y = 0

3x2 + 3y2 + 8x + 29y = 0

https://dl.doubtnut.com/l/_KTskK5V34eZm
https://dl.doubtnut.com/l/_5JTCKJfcXD1C


16. The equation of the circle cutting orthogonally the circles

 and passing

through the point (1,1) is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 8x − 2y + 16 = 0, x2 + y2 − 4x − 4y − 1 = 0

3x2 + 3y2 − 14x + 23y − 15 = 0

x2 + y2 + 2x − 6y − 6 = 0

x2 + y2 + 16y − 8 = 0

4x2 + 4y2 − 15x − 4 = 0

17. Find the equation of the circle which is orthogonal to each of the

following three circles. 

 x2 + y2 + 2x + 17y + 4 = 0___(1)

https://dl.doubtnut.com/l/_5JTCKJfcXD1C
https://dl.doubtnut.com/l/_G5URpuq8Dadz
https://dl.doubtnut.com/l/_bvwXwrvgJlZ6


 


and  

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 7x + 6y + 11 = 0(___)(2)

x2 + y2 − x + 22y + 3 = 0___(3)

x2 + y2 − 6x − 4y − 44 = 0

x2 + y2 − 6x + 6 = 0

x2 + y2 − 14x − 5y − 34 = 0

x2 + y2 − 5x − 14y − 34 = 0

18. The equation of the circle which cuts orthogonally the three circles 

is

A. 

B. 

C. 

x2 + y2 + 4x + 2y + 1 = 0, 2x2 + 2y2 + 8x + 6y − 3 = 0, x2 + y2 + 6x −

x2 + y&(2) − 6x − 4y − 44 = 0

x2 + y2 − 6x + 6 = 0

x2 + y2 − 14x − 5y − 34 = 0

https://dl.doubtnut.com/l/_bvwXwrvgJlZ6
https://dl.doubtnut.com/l/_vBYMP5b9i5wO


D. 

Answer: C

Watch Video Solution

x2 + y2 − 5x − 14y − 34 = 0

19. A circle S cuts three circles

orthogonally . Then the radius of S is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x − 2y + 4 = 0, x2 + y2 − 2x − 4y + 1 = 0  and x2 + y2 + 4x

√
29

8

√
28

11

√
29

7

√
29

5

https://dl.doubtnut.com/l/_vBYMP5b9i5wO
https://dl.doubtnut.com/l/_VRuur76zpaZL
https://dl.doubtnut.com/l/_fLKFdONGxV8E


20. The equation of the circle which cuts orthogonally the three circles 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2, (x − g)2 + y2 = a2, x2 + (y − f)2 = a2

2x2 + 2y2 − gx − fy + 10a2 = 0

x2 + y2 − gx − fy + a2 = 0

x2 + y2 + gx + fy + a2 = 0

x2 − y2 − gx − fy − a2 = 0

21. The circles orthogonal to the three circles

 is

A. 

B. 

C. 

x2 + y2 + aix + biy + c = 0, I = 1, 2, 3

x2 + y2 − bix − aiy − c = 0

x2 + y2 = c

x2 + y2 = ai + bi

https://dl.doubtnut.com/l/_fLKFdONGxV8E
https://dl.doubtnut.com/l/_OUOtgARNz7GF


D. 

Answer: B

View Text Solution

x2 + y2 = c2

22. A circle passes through origin and has its centre on y = x . If it cuts

 orthogonally then the equation of the

circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y + 10 = 0

x2 + y2 − x − y = 0

x2 + y2 − 6x − 4y − 0

x2 + y2 − 2x − 2y = 0

x2 + y2 + 2x + 2y = 0

https://dl.doubtnut.com/l/_OUOtgARNz7GF
https://dl.doubtnut.com/l/_H2zJDABFTi56
https://dl.doubtnut.com/l/_ypPPlHCHxPXK


23. Find the equation of the circle passing through the origin, having its

centre on the line x + y = 4 and intersecting the circle

 orthogonlly.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 − 4x + 2y + 4 = 0

x2 + y2 − 2x − 6y = 0

x2 + y2 − 4x − 4y = 0

x2 + y2 − 6x − 3y = 0

24. The circle with centre on the line  and cutting the

circle  orthogonal , passes through the fixed points

A. 

B. 

2x − 2y + 9 = 0

x2 + y2 = 0

(4, − 4), (1/2, 1/2)

( − 4, 4), ( − 1/2, 1/2)

https://dl.doubtnut.com/l/_ypPPlHCHxPXK
https://dl.doubtnut.com/l/_eJeJXxspjIxA


C. 

D. 

Answer: B

View Text Solution

(4, − 4), ( − 1/2, 1/2)

( − 4, 4), (1/2, 1/2)

25. The equation of the circle cutting orthogonally the circles

 and which

has its centre on the line  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 4x + 2y − 11 = 0, x2 + y2 + 6x − 4y − 13 = 0

2x + y + 4 = 0

x2 + y2 + 2x + 4y + 11 = 0

x2 + y2 + 2x + 4y + 11 = 0

x2 + y2 + 2x − 4y + 11 = 0

x2 + y2 − 2x − 4y + 11 = 0

https://dl.doubtnut.com/l/_eJeJXxspjIxA
https://dl.doubtnut.com/l/_cB5Pw2dWkvh9


26. The equation of the circle cutting orthogonally the circles

 and which touches the

line  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 + 2x + 8 = 0, x2 + y2 − 8x + 8 = 0

x − y + 4 = 0

x2 + y2 + 4y = 0

x2 + y2 + 8y + 8 = 0

x2 + y2 + 16y − 8 = 0

x2 + y2 + 16y − 16 = 0

27. The equation of the circle cutting orthogonally the circule

 and passing through the point 

 is

A. 

x2 + y2 − 4x + 3y − 1 = 0

( − 2, 5), (0, 0)

2x2 + 2y2 − 11x − 16y = 0

https://dl.doubtnut.com/l/_cB5Pw2dWkvh9
https://dl.doubtnut.com/l/_XDe70ju2D81q
https://dl.doubtnut.com/l/_wrB5e1ehPBdK


B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 4x − 4y = 0

x2 + y2 − 16 − 8 = 0

4x2 + 4y2 − 15x − 4 = 0

28. The condition that the circles which passes through the points

 and touch the line  will cut orthogonally is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, a), (0, − a) y = mx + c

c2 = a2(1 + m2)

c2 = a2(2 + m2)

c2 = a2(3 + m2)

c2 = a2(4 + m2)

https://dl.doubtnut.com/l/_wrB5e1ehPBdK
https://dl.doubtnut.com/l/_0dJ3KQLOaN2V


29. The locus of the centre of the circle which cuts the circles

orthogonally is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 + 4x − 6y + 9 = 0  and x2 + y2 − 4x + 6y + 4 = 0

8x + 12y − 5 = 0

8x − 12y + 5 = 0

4x − 6y + 5 = 0

30. The locus of the centre of the circle which cuts the circles

orthogonally is

x2 + y2 + 4x − 6y + 9 = 0  and x2 + y2 − 5x + 4y + 2 = 0

https://dl.doubtnut.com/l/_0dJ3KQLOaN2V
https://dl.doubtnut.com/l/_TMqCGJNA2e47
https://dl.doubtnut.com/l/_vUN5k6y0zXIV


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 4y − 5 = 0

9x − 10y + 7 = 0

9x + 10y − 7 = 0

9x − 10y + 11 = 0

31. (1, 2) is a point on the circle  which is

orthogonal to . The conjugate point of (1, 2) w.r.t the circle 

 and which lies on the first circle is

A. (7,-1)

B. (9,-2)

C. (-3,4)

D. (0,5)

x2 + y2 + 2x − 6y + 5 = 0

x2 + y2 = 5

x2 + y2 = 5

https://dl.doubtnut.com/l/_vUN5k6y0zXIV
https://dl.doubtnut.com/l/_CvyxcGR1yimz


Answer: C

Watch Video Solution

32. The point (3,1) is a point on a circle C with centre (2,3) and C is

orthogonal to  . The conjugate point of (3,1) w.r. to 

 which lies on C is

A. (5,1)

B. (5,4)

C. (1,5)

D. (0, + 2)

Answer: C

View Text Solution

x2 + y2 = 8

x2 + y2 = 8

https://dl.doubtnut.com/l/_CvyxcGR1yimz
https://dl.doubtnut.com/l/_qo2UDEqQAIuc


33. The points A(2, 3) and B(-7, -12) are conjugate points w.r.t to the circle

. The centre of the circle passing through A

and B and orthogonal to given circle is

A. (-5,-9)

B. (-9,-15)

C. 

D. none

Answer: C

Watch Video Solution

x2 + y2 − 6x − 8y − 1 = 0

( − 5/2. − 9/2)

34. The locus of centres of all circles which touch the line x = 2a and cut

the circle  orthogonally is

A. 

B. 

x2 + y2 = a2

y2 + 4ax − 5a2 = 0

y2 + 4ax + 5a2 = 0

https://dl.doubtnut.com/l/_jJ0rGCCdyLSL
https://dl.doubtnut.com/l/_FlpdyB7zMd45


C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax + 5a2

y2 = 4ax − 5a2

35. If a circle passes through the point (a,b) and cuts the circle

 orthogonally, the equation of the locus of its centre is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 = k2

2ax + 2by = a2 + b2 + k2

ax + by = a2 + b2 + k2

x2 + y2 + 2ax + 2by + k2 = 0

x2 + y2 − 2ax + 2by + k2 = 0

https://dl.doubtnut.com/l/_FlpdyB7zMd45
https://dl.doubtnut.com/l/_Xj1lZdT2tkkK
https://dl.doubtnut.com/l/_CPMSioMFb9bk


36. the radical axis of the circles

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 3x + 4y − 5 = 0   and x2 + y2 − 5x + 5y − 6 = 0

8y − x + 1 = 0

8x − y + 1 = 0

8x − 8y + 1 = 0

y − 8x + 1 = 0

37. The radical axis of the circles

 is

A. 

B. 

C. 

x2 + y2 − 6x − 4y − 44 = 0  and x2 + y2 − 14x − 5y − 24 = 0

8x + y − 30 = 0

8x + y + 20 = 0

8X + 3Y − 20 = 0

https://dl.doubtnut.com/l/_CPMSioMFb9bk
https://dl.doubtnut.com/l/_IK5hr3PgTE1l


D. 

Answer: D

Watch Video Solution

8X + Y − 20 = 0

38. The equation of the radical axis of the pair of circles

is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7x2 + 7y2 − 7x + 14y + 18 = 0  and 4x2 + 4y2 − 7x + 8y + 20 = 0

x − 2y − 5 = 0

2x − y + 5 = 0

21x − 68 = 0

23x − 68 = 0

https://dl.doubtnut.com/l/_IK5hr3PgTE1l
https://dl.doubtnut.com/l/_bXUuDzyzl8du
https://dl.doubtnut.com/l/_744cLmiYYNVP


39. the slope of the radical axis of the circles

 is

A. 1

B. 3

C. 5

D. 8

Answer: D

Watch Video Solution

x2 + y2 + 3x + 4y − 5 = 0  and x2 + y2 − 5x + 5y − 6 = 0

40. Let

Then L is the

A. common chord of 

B. common tangent of 

C1 ≡ x2 + y2 − 2x − 4y = 0. C2 = x2 + y2 + 2x + 10y + 10 = 0  and L

C1  and C2

C1  and C2

https://dl.doubtnut.com/l/_744cLmiYYNVP
https://dl.doubtnut.com/l/_sv4A82cPZ61f


C. radical axis of 

D. none

Answer: C

View Text Solution

C1  and C2

41. If the radical axis of two circles with centres A and B bisects AB then

their radii are in the ratio

A. 

B. 

C. 

D. cannot be determined

Answer: A

Watch Video Solution

1: 1

1: 2

2: 3

https://dl.doubtnut.com/l/_sv4A82cPZ61f
https://dl.doubtnut.com/l/_JJw3oJ6xogQD
https://dl.doubtnut.com/l/_9rJZft83Egkn


42. The centres of the circles are (a,c) and (b,c) and their radical axis is the

y-axis . The radical of one of the circle is r . The radius of the other circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r2 − a2 + b2

2(r2 − a2 + b2)

√r2 − a2 + b2

2√2 − a2 + b2)

43. B and C are two points on the circle  point A (b,c) lies on

that circle such that AB = AC = d, then the equation of the line 

is

A. 

B. 

x2 + y2 = a2

↔ (BC)

bx + ay = a2 − d2

bx + ay = d2 − a2

https://dl.doubtnut.com/l/_9rJZft83Egkn
https://dl.doubtnut.com/l/_9Dy5S53Z1Xje


C. 

D. 

Answer: D

Watch Video Solution

bx + cy = 2a2 − d2

2(bx + cy) = 2a2 − a2

44. A line l meets the circle  in A , B and P(-5,6) is such that

PA = PB = 10 . Then the quation of l is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 61

5x + 6y + 11 = 0

5x − 6y − 11 = 0

5x − 6y + 11 = 0

5x − 6y + 12 = 0

https://dl.doubtnut.com/l/_9Dy5S53Z1Xje
https://dl.doubtnut.com/l/_s5z0oLLZ3TLD
https://dl.doubtnut.com/l/_OokglreX2cKJ


45. The circles

 are

such that

A. the centres are colinear

B. they are coaxial

C. they are concentric

D. none

Answer: B

View Text Solution

x2 + y2 = 1, x2 + y2 + 6x − 2y = 1  and x2 + y2 − 12x + 4y = 1

46. If the circles  and 

 intersect in two distinct points P and Q

then the line 5x + by - a = 0 passes through P and Q for

A. exactly one value of a

x2 + y2 + 2ax + cy + a = 0

x2 + y2 − 3ax + dy − 1 = 0

https://dl.doubtnut.com/l/_OokglreX2cKJ
https://dl.doubtnut.com/l/_xwYqK2MpRose


B. no value of a

C. infinitely many values of a

D. exactly two values of a

Answer: B

Watch Video Solution

47. If aa circle passes through the point (a,b) and cuts the cirlce

 orthogonally , - then the equation of the locus of its centre is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2y2 = p2

x2 + y2 − 3ax − 4by + (a2 + b2 − p2) = 0

2ax + 2by − (a2 − b2 + p2) = 0

x2 + y2 − 2ax − 3by + (a2 − b2 − p2) = 0

2ax + 2by − (a2 + b2 + p2) = 0

https://dl.doubtnut.com/l/_xwYqK2MpRose
https://dl.doubtnut.com/l/_enfldqFjlvA0


48. The locus of the centre of the circle, which cuts the circle

 orthogonally and touchs the line x = 2 , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 20x + 4 = 0

y2 = 4x

y2 = 16x

x2 = 4y

x2 = 16y

49. A circle passes through the points (3,4) and cuts the circle

 orthogonally, the locus of its centre is a straight line . If the

distance of this straight line from the origin is 25 , then 

A. 250

x2 + y2 = a2

a2 =

https://dl.doubtnut.com/l/_enfldqFjlvA0
https://dl.doubtnut.com/l/_g6PxK7bgQElC
https://dl.doubtnut.com/l/_ofQamvYHbaZC


B. 225

C. 100

D. 25

Answer: B

Watch Video Solution

50. The equation of the common tangent at the point contact of the

circles 

 is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 − 10x + 2y + 10 = 0, x2 + y2 − 4x − 6y + 12 = 0

5x + 12y + 19 = 0

4x − 7y − 13 = 0

3x − 4y + 1 = 0

x + 2y + 10 = 0

https://dl.doubtnut.com/l/_ofQamvYHbaZC
https://dl.doubtnut.com/l/_wqn3HEb1CyIx


Watch Video Solution

51. The equation of the common chord of the two circles

 is

A. 2x + 1 = 0

B. 3x + 2 = 0

C. 5x + 10 = 0

D. 12x + 11 = 0

Answer: A

Watch Video Solution

x2 + y2 + 2x + 3y + 1 = 0, x2 + y2 + 4x + 3y + 2 = 0

52. The equation of the common chord of the two circles 

 is

A. ax - by = 10

(x − a)2 + (y − b)2 = c2, (x − b)2 + (y − a)2 = c2

https://dl.doubtnut.com/l/_wqn3HEb1CyIx
https://dl.doubtnut.com/l/_wxuhqkta6qrX
https://dl.doubtnut.com/l/_PxASo2n6wmYA


B. ax - by = 0

C. x - y = 0

D. ax + by = 1

Answer: C

Watch Video Solution

53. The distance from (1,2) to the radical axis of the circles 

 is

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 6x − 16 = 0, x2 + y2 − 2x − 6y − 6 = 0

√5

√2

https://dl.doubtnut.com/l/_PxASo2n6wmYA
https://dl.doubtnut.com/l/_C6AgJPImVopV


54. The distanc of the point (1,-2) from the common chord of the circles 

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

x2 + y2 − 5x + 4y − 2 = 0  and x2 + y2 − 2x + 8y + 3 = 0

55. The distance of the point (1,-2) from the common chord of the circles 

A. 0

B. 1

x2 + y2 − 5x + 4y − 2 = 0  and x2 + y2 − 2x + 8y + 3 = 0

https://dl.doubtnut.com/l/_C6AgJPImVopV
https://dl.doubtnut.com/l/_sVdSojVlSeT8
https://dl.doubtnut.com/l/_ksR5Qdc5hb7z


C. 

D. 

Answer: A

Watch Video Solution

√2

√3

56. The length of the common chord of the circles of radii 15 and 20,

whose centres are 25 unit of distance apart, is

A. 12

B. 16

C. 24

D. 25

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ksR5Qdc5hb7z
https://dl.doubtnut.com/l/_e1hdepsoY5ga
https://dl.doubtnut.com/l/_uyXDTjzmDwG0


57. The length of the common chord of the circles 

 is

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x + 3y + 1 = 0, x2 + y2 + 4x + 3y + 2 = 0

2√2

√2

−2

58. The length of the common chord of the two circles

 is

A. 

B. 

C. 

x2 + y2 − 4y = 0  and x2 + y2 − 8x − 4y − 11 = 0

√11

2

√135

√135

4

https://dl.doubtnut.com/l/_uyXDTjzmDwG0
https://dl.doubtnut.com/l/_2xxcTvLssyVS


D. 

Answer: C

Watch Video Solution

√145
4

59. The length of the common chord of the circles

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2hx = 0, x2 + y2 − 2ky = 0

hk

h2 + k2

hk

√h2 + k2

2hk

h2 + k2

2hk

√h2 + k2

https://dl.doubtnut.com/l/_2xxcTvLssyVS
https://dl.doubtnut.com/l/_ODf86llPIbak


60. The equation of the common chord of the two circles 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − a)2 + (y − b)2 = c2, (x − b)2 + (y − a)2 = c2

ab

√a2 + b2

2ab

√a2 + b2

a + b

√a2 + b2

√a2 + b2

61. The length of the common chord of the circles

 is

A. 

B. 

C. 

(x − a)2 + (y − b)2 = c2  and (x − b)2 + (y − a)2 = c2 = c2

√4c2 − 2(a − b)2

√4c2 − (a − b)2

√2c2 − (a − b)2

https://dl.doubtnut.com/l/_zMplFYPVok9B
https://dl.doubtnut.com/l/_O1hucR1KliPM


D. 

Answer: A

Watch Video Solution

√c2 − (a − b)2

62. The length of the common chord of the circles 

 and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2gx + c = 0 x2 + y2 + 2fy − c = 0

[ ]

1 / 2
(g2 − c)(f 2 + c)

g2 + f 2

[ ]

1 / 2
(g2 + c)(f 2 − c)

g2 + f 2

2[ ]

1 / 2
(g2 − c)(f 2 + c)

g2 + f 2

2[ ]

1 / 2
(g2 + c)(f 2 − c)

g2 + f 2

https://dl.doubtnut.com/l/_O1hucR1KliPM
https://dl.doubtnut.com/l/_O9tyHrMxEoxL
https://dl.doubtnut.com/l/_dfatSKDt04gN


63. The length of the common chord of the circle 

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 + ax + by + c = 0  and x2y2 + bx + ay + c = 0

√(a + b)
2

− 8c

2

√(a − b)2 − 8c

2

√(a − b)
2

+ 8c

2

√(a + b)2 + 8c

2

64. The length of the common chord of the circles 

 is

A. 

B. 

x2 + y2 + 2hx + a2 = 0, x2 + y2 − 2ky − a2 = 0

2
√(k2 + a2)(h2 − a2)

h2 + k2

√(k2 + a2)(h2 − a2)

h2 + k2

https://dl.doubtnut.com/l/_dfatSKDt04gN
https://dl.doubtnut.com/l/_7QUMNbPSc1fM


C. 

D. 

Answer: A

Watch Video Solution

2
√(k2 + a2)(h2 + a2)

h2 − k2

2
√(2k2 + y2)(h2 − x2)

2h2 + 3k2

65. The length of the common chord of the circles of radii 15 and 20

whose centres are 25 units apart is

A. 24

B. 25

C. 15

D. 20

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7QUMNbPSc1fM
https://dl.doubtnut.com/l/_lSCrn6QV1kW2
https://dl.doubtnut.com/l/_GpdhH2z2cyrR


66. If the circle  bisects the circumference

of the circle 

 , them the length of the common

chord of these two circles is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g' x + 2f' y + c' = 0

2√g2 + f 2 − c

2√g'
2 + f'

2 − c'

2√g2 + f 2 − c

2√g'
2 + f'

2 + c'

67. The common chord of 

subtends at the origin an angle equal to

A. 

x2 + y2 − 4x − 4y  and x2 + y2 = 16

π/6

https://dl.doubtnut.com/l/_GpdhH2z2cyrR
https://dl.doubtnut.com/l/_0q48OxM4gM78


B. 

C. 

D. 

Answer: D

Watch Video Solution

π/4

π/3

π/2

68. If one of the diameter of the circle , given by the equation , 

 , 


is a chord of a circle S , where centre is at (-3,2) , then the radius of S is

A. 

B. 

C. 

D. 10

Answer: B

x2 + y2 − 4x + 6y − 12 = 0

5√2

5√3

5

https://dl.doubtnut.com/l/_0q48OxM4gM78
https://dl.doubtnut.com/l/_mGgDfa367XBl


Watch Video Solution

69. The lengthk of the equation chord of the two circles

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(X − a)2 + y2 = a2 x2 + (y − b)2 = b2

(a2 + b2)(x2 + y2) + 2ab(bx − ay) ≡ 0

(a2 + b2)(x2 + y2) − 2ab(bx − ay) = 0

(a2 + b2)(x2 + y2 + ab(bx − ay) = 0

(a2 + b2)(x2 + y2) − 2ab(bx − ay) = 0

70. The equation of the circle described on the common chord of the

circles  as diameter is

A.  as diameter is

x2 + y2 + 2x = 0, x2 + y2 + 2y = 0

x2 + y2 + 2x = 0, x2 + y2 + 2y = 0

https://dl.doubtnut.com/l/_mGgDfa367XBl
https://dl.doubtnut.com/l/_rjq0KdlXAao2
https://dl.doubtnut.com/l/_jo6BcraDLU6P


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + x − y = 0

x2 + y2 − x − y = 0

x2 + y2 − x + y = 0

71. The equation of the circle whose diamter is the common chord of the

circles 

 is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 + 2x + 3y + 2 = 0  andx2 + y2 + 2x − 3y − 4 = 0

x2 + y2 + 2x + 2y + 2 = 0

x2 + y2 + 2x + 2y − 1 = 0

x2 + y2 + 2x + 2y + 1 = 0

x2 + y2 + 2x − 2y + 1 = 0

https://dl.doubtnut.com/l/_jo6BcraDLU6P
https://dl.doubtnut.com/l/_VpMOeIZdc9eZ


Watch Video Solution

72. If  meets the circle  at A and B ,

then the equation of the circle with AB as diameter is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x − y + 1 = 0 x2 + y2 + y − 1 = 0

x2 + y2 + x + 3y + 3 = 0

2x2 + 2y2 + 2x + 6y + 3 = 0

x2 + y2 + x + 6y + 1 = 0

2x2 + 2y2 + x + 3y + 1 = 0

73. The circle on the chord  of the circle 

as diameter is

A. 

x cosα + y sinα = p x2 + y20 =r2

x2 + y2 − r2 − 2p(x cosα + y sinα − p) = 0

https://dl.doubtnut.com/l/_VpMOeIZdc9eZ
https://dl.doubtnut.com/l/_wPVbB4JH0zAn
https://dl.doubtnut.com/l/_JkDN42cMZNF5


B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − r2 + 2p(x cosα + y sinα − p) = 0

x2 + y2 − r2 = p(x cosα + y sinα − p) = 0

x2 + y2 − r2 + p(x cosα + sinα − p) = 0

74. The intercet on the line y = x by the circle  is AB .

Equation of the circle on AB as a diameter is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x = 0

x2 + y2 − x − y = 0

x2 + y2 + x − y = 0

x2 + y2 + x + y = 0

x2 + y2 − x + y = 0

https://dl.doubtnut.com/l/_JkDN42cMZNF5
https://dl.doubtnut.com/l/_ggDeyiThWBkd


75. If  meets the circle  at A and B ,

then the equation of the circle with AB as diameter is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − y + 1 = 0 x2 + y2 + y − 1 = 0

2(x2 + y2) + 3x − y + 1 = 0

2(x2 + y2) + 3x − y + 2 = 0

2(x2 + y2) + 3x − y + 3 = 0

x2 + y2 + 3x − y + 1 = 0

76. If the chord of contact of tangents from a point to a given circle

passes through Q , then the circle on PQ as diameter

A. cuts the given circle orthogonally

B. touches the given circle externally

https://dl.doubtnut.com/l/_ggDeyiThWBkd
https://dl.doubtnut.com/l/_pE0bVnlMXK2q
https://dl.doubtnut.com/l/_AMmSr2fcbHm8


C. touches the given circle internally

D. none

Answer: A

View Text Solution

77. The equation of the circle passing through the origin and the point of

intersection of the two circles

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 4x − 6y − 3 = 0, x2 + y2 + 4x − 2y − 4 = 0

x2 + y2 − 28x − 18y = 0

x2 + y2 + 28x − 18y = 0

x2 + y2 + 28x + 18y = 0

x2 + y2 − 28x + 18y = 0

https://dl.doubtnut.com/l/_AMmSr2fcbHm8
https://dl.doubtnut.com/l/_QCxy8qTnuC9u


78. The length of the common chord of the circles 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2x + 3y + 1 = 0, x2 + y2 + 4x + 3y + 2 = 0

9x2 + 9y2 + 16y − 34 = 0

10(x2 + y2) + 3y − 86 = 0

x2 + y2 − x − 2y = 0

x2 + y2 + 22 + 3y + 11 = 0

79. Find the equation of the circle passing therough the points of

intersection of the circles. 

 


 


and (1, 2).

x2 + y2 − 8x − 6y + 21 = 0__(1)

x2 + y2 − 2x − 15 = 0___(2)

https://dl.doubtnut.com/l/_QCxy8qTnuC9u
https://dl.doubtnut.com/l/_X2V72GfEp8WM
https://dl.doubtnut.com/l/_YpvrcmDzJjQJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 6x − 2y + 9 = 0

x2 + y2 − 6x − 2y + 9 = 0

x2 + y2 − 6x − 4y + 9 = 0

x2 + y2 − 6x + 4y + 9 = 0

80. The equation of the circle passing through the point of intersection

of the circles 

 and touching x-axis is

A. 

B. 

C. 

D. 

x2 + y2 = 5, x2 + y2 + 12x + 8y − 33 = 0

x2 + y2 − 6x − 4y + 9 = 0, 9x2 + 9y2 − 30x − 20y + 25 = 0

3x2 + 3y2 − 16x − 40y + 29 = 0, 9x2 − 30x − 20 + 25 = 0

x2 + y2 − 6x − 4y − 9 = 0, 9x2 + 9y2 − 30x − 20y − 25 = 0

x2 + y2 − 6x − 4y + 9 = 0, x2 + y2 − 10x + 50y − 25 = 0

https://dl.doubtnut.com/l/_YpvrcmDzJjQJ
https://dl.doubtnut.com/l/_Wy63Z20rU0X7


Answer: A

View Text Solution

81. The equation of the circle passing through the point of intersection of

the circles 

 and touching the

line x + 2y = 5 is

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

x2 + y2 − 3x − 6y + 8 = 0, x2 + y2 − 2x − 4y + 4

x2 + y2 − x − 2y = 0

x2 + y2 = 4

x2 + y2 + 4 = 0

https://dl.doubtnut.com/l/_Wy63Z20rU0X7
https://dl.doubtnut.com/l/_uZFm73G58oxi


82. The equation of the circle passing through the points of intersection

of the circles 

 and touching

the line 2x+ y = 3 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 3x − 6y + 8 = 0, x2 + y2 − 2x − 4y + 4 = 0

x2 + y2 + 2x − 4 = 0, 15x2 + 15y2 + 10x + 20y − 48 = 0

x2 + y2 − 4x − 8y + 12 = 0, 5x2 + 5y2 + 4x + 8y − 36 = 0

x2 + y2 − 6x − 4y − 9 = 0, 9x2 + 9x2 − 30x − 20y − 25 = 0

x2 + y2 − 6x − 4y + 9 = 0, x2 + y2 − 10x + 50y − 25 = 0

83. The equation of the circle passing through the point of intersection of

the circles 

 and having

radius  is

x2 + y2 + 6x + 4y − 12 = 0, x2 + y2 − 4x − 6y − 12 = 0

√13

https://dl.doubtnut.com/l/_XVv7I8ZAqfmF
https://dl.doubtnut.com/l/_W9fHuqDqZeba


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

9x2 + 9y2 + 16y − 34 = 0

10(x2 + y2) + 3y086 = 0

x2 + y2 − x − 2y = 0

x2 + y2 − 2y − 12 = 0

84. The equation of the circle passing through (2a,0) and whose radical

axis w.r. to the circle  is  is

A. 

B. 

C. 

D. none

Answer: C

x2 + y2 = a2 x = a/2

x2 + y2 − ax = 0

x2 + y2 + 2ax = 0

x2 + y2 − 2ax = 0

https://dl.doubtnut.com/l/_W9fHuqDqZeba
https://dl.doubtnut.com/l/_dbQ8CWCR5urN


Watch Video Solution

85. Equation of the circle passing through (2,0) and whose radical axis w.r.

to the circle 

 is x = 1/2 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 − 2x = 0

x2 + y2 + 2x = 0

x2 + y2 − 2y = 0

x2 + y2 + 2y = 0

86.  is the middle point of chord AB of the circle  .

The equation the circle through the point A, B and (0,1) is

( − 2, 3) x2 + y2 = 81

https://dl.doubtnut.com/l/_dbQ8CWCR5urN
https://dl.doubtnut.com/l/_kycUrzUR1JEv
https://dl.doubtnut.com/l/_0aJCQwW89b9N


A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 − 16x + 24y − 23 = 0

x2 + y2 + 16x − 24y + 23 = 0

x2 + y2 − 2y + 1 = 0

87. The equation of the circle passing through the intersection of the

circles  and having its centre on the

line x/a- y/b = 2 is

A. 

B. x^(2) +y^(2) + 3ax - by = 0 `

C. 

D. 

x2 + y2 = 2ax  and x2 + y2 = 2by

x2 + y2 − 3ax + by = 0

x2 + y2 − 3ax − by = 0

x2 + y2 + 3ax + by = 0

https://dl.doubtnut.com/l/_0aJCQwW89b9N
https://dl.doubtnut.com/l/_kXBFEpVdXuTK


Answer: A

View Text Solution

88. If tangents be drawn to the circle  at its point of

intersection with the circle 

, the coordinates of their point intersection is

A. (3,2)

B. (-2,3)

C. (2,3)

D. (2,-3)

Answer: C

Watch Video Solution

x2 + y2 = 12

x2 + y2 − 2x − 3y = 0

https://dl.doubtnut.com/l/_kXBFEpVdXuTK
https://dl.doubtnut.com/l/_nKdli0hy0nst


89. The equation of the circle cutting the circle 

 orthogonally and 

coaxal with circles

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 + 2x − 4y + 8 = 0

x2 + y2 + 6x + 4y − 12 = 0, x2 + y2 − 4x − 6y − 12 = 0

x2 + y2 − 8x + 6y − 12 = 0

x2 + y2 + 8x − 6y − 12 = 0

x2 + y2 − 8x − 12 = 0

x2 + y2 − 8x − 6y − 12 = 0

90. The condition that the circle  to bisect

the circumference of the circle  is

A. 

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g1x + 2f 1y + c1 = 0

2g(g − g' ) + 2f(f − f' ) = c − c'

https://dl.doubtnut.com/l/_HbSwFMZtsNzT
https://dl.doubtnut.com/l/_IIVVUfEj8ZGr


B. 

C. 

D. g' (g-g') + f' (f-f') = c - c'

Answer: B

Watch Video Solution

2g' (g − g' ) + 2f' (f − f' ) = c − c'

g(g − g' ) + f(f − f' ) = c − c'

91. If the circle  bisects the circumference of

the circle 

 , then c + d =

A. 60

B. 50

C. 40

D. 56

Answer: B

x2 + y2 + 4x − 22y + c = 0

x2 + y2 − 2x + 8y − d = 0

https://dl.doubtnut.com/l/_IIVVUfEj8ZGr
https://dl.doubtnut.com/l/_WgLcJqbqpTtf


Watch Video Solution

92. If the circle  bissects the circumference of

the circle  , then c =

A. 16

B. 24

C. 42

D. 62

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y − c = 0

x2 + y2 − 6x + 4y − 12 = 0

93. The equation of the circle which bisects the circumferences of the

circles 

 isx2 +2 = 1, x2 + y2 + 2x = 3, x2y2 + 2y = 3

https://dl.doubtnut.com/l/_WgLcJqbqpTtf
https://dl.doubtnut.com/l/_s1YNFMjOetPw
https://dl.doubtnut.com/l/_Q4dy5D3ufMyr


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 + 4x + 4y − 1 = 0

x2 + y2 + 2x + 2y − 1 = 0

x2 + y2 + 4x + 2y − 1 = 0

x2 + y2 + 2x + 4y − 1 = 0

94. The equation of the circle passing through the point (1,2) cutting the

circle 

 rthogonally and bisecting the circumference

of the circle  is

A. 

B. 

C. 

D. 

x2 + y2 − 2x + 8y + 7 = 0

x2 + y2 = 9

5(x2 + y2) − 11x + 11y − 17 = 0

3(x2 + y2) + 10x + y − 27 = 0

2(x2 + y2) + 5x + 6y − 17 = 0

(x2 + y2 − 11x − y − 27 = 0

https://dl.doubtnut.com/l/_Q4dy5D3ufMyr
https://dl.doubtnut.com/l/_79f83GDrJz2l


Answer: B

View Text Solution

95. If the circle  intersects another circle S' = 0 f

radius 5 in such a manner that the common chord is f maximum length

and has a slope equal to 3/4 then the centre of S' = 0 is

A. (9/5,-12/5) r (-9/5,125)

B. (9/5,12/5) or (-9/5 ) or (-9/5, - 12/5)

C. (9/7, - 12/7) or (-9/7, 12/7)`

D. `(9/7, 12/7) or (-9/7, -12/7)

Answer: A

View Text Solution

S ≡ x2 + y2 − 16 = 0

https://dl.doubtnut.com/l/_79f83GDrJz2l
https://dl.doubtnut.com/l/_sOHr49rO4sbA


96. x = 1 is the radical axis of two rthognally intersecting circles . If

 is one of the circles then the other circle

A. 

B. 

C. 

D. none

Answer: B

View Text Solution

x2 + y2 = 4

x2 + y2 − 4x + 4 = 0

x2 + y2 − 8x + 4 = 0

x2 + y2 + 8x − 4 = 0

97. Two circles S and S' intersect at P and Q . A, C lie on S and B , D lie n S'

such that APB is parallel to CQD . Then

A. ABCD is cyclic quadriateral

B. AC is parallel to BD

C. ABCD is a rectangle

https://dl.doubtnut.com/l/_6vlBBQFe5iTq
https://dl.doubtnut.com/l/_SA6Ulcpj3VVQ


D. 

Answer: B

View Text Solution

∠ACQ = 90∘

98. The circles  cuts the circle  at the

point A and B . If the circle  passes through A and B

then the value of k is ?

A. -4

B. 0

C. -8

D. 4

Answer: D

View Text Solution

x2 + y2 = 4 x2 + y2 − 2x − 4 = 0

x2 + y2 − 4xk = 0

https://dl.doubtnut.com/l/_SA6Ulcpj3VVQ
https://dl.doubtnut.com/l/_6o26snvTcgtX
https://dl.doubtnut.com/l/_Y3JCxFUJtczW


99. The radical centre of the circles

 is

Watch Video Solution

x2 + y2 = 1, x2 + y2 − 2x = 1, x2 + y2 − 2y = 1

100. The radical centre of the circles

 is

Watch Video Solution

x2 + y2 + 1 = 0, x2 + y2 − 2x − 3 = 0  and x2 + y2 − 2y − 3 = 0

101. The radical centre of the circles 

is

A. (2,3)

B. (2,-3)

C. (-2,3)

D. (-2,-3)

x2 + y2 − x + 3y − 3 = 0, x2 + y2 − 2x + 2y + 2 = 0, x2 + y2 + 2x + 3y

https://dl.doubtnut.com/l/_Y3JCxFUJtczW
https://dl.doubtnut.com/l/_zSN4NG5MjqVd
https://dl.doubtnut.com/l/_eb9HvxPsEcMf


Answer: A

Watch Video Solution

102. The radical centre of the circles

 is (a,b)

A. (a,b)

B. (b.a)

C. (0,0)

D. none

Answer: C

View Text Solution

x2 + y2 + arx + bry + c − 0, r − 1, 2, 3

103. If the lengths of tangents drawn to the circles 

x2 + y2 − 8x + 40 = 0, 5x2 + 5y2 − 25x + 80 = 0, x2 + y2 − 8x + 16y +

https://dl.doubtnut.com/l/_eb9HvxPsEcMf
https://dl.doubtnut.com/l/_EXBwG2Wvb2tN
https://dl.doubtnut.com/l/_qnBAgLtVo3jH


from the point P are equal, then P =

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(8, )
15

2

( − 8, )
15

2

(8, )
−15

2

( − 8, )
−15

2

104. The radical centre of the three circles described on the three sides of

a triangle as diameter is ......... of the triangle

A. the orthocentre

B. the circumcentre

C. the incentre

D. the centroid of the triangle

https://dl.doubtnut.com/l/_qnBAgLtVo3jH
https://dl.doubtnut.com/l/_SsVD4VIzmYjA


Answer: A

Watch Video Solution

105. If A, B, C are the centres of three circles touching mutually externally

then the radical centre of the circles for ABC is

A. the orthocentre

B. the circumcentre

C. the incentre

D. centroid of  ABC

Answer: C

Watch Video Solution

△

Δ

106. If P and Q are the Points of intersection of the circles

 and  thenx2 + y2 + 3x + 7y − 2p − 5 = 0 x2 + y2 + 2x + 2y − p2 = 0

https://dl.doubtnut.com/l/_SsVD4VIzmYjA
https://dl.doubtnut.com/l/_oWvKGwQVBrP8
https://dl.doubtnut.com/l/_YfSAfq7jJZic


there is a circle passing through P, Q and (1, 1) for

A. all except one value of p

B. all except two values of p

C. exactly one value of p

D. all values of p

Answer: A

Watch Video Solution

107. (a,0) and (b, 0) are centres of two circles belonging to a co-axial

system of which y-axis is the radical axis. If radius of one of the circles 'r',

then the radius of the other circle is

A. 

B. 

C. 

(r2 + b2 + a2)
1 / 2

(r2 + b2 − a2)
1 / 2

(r2 + b2 − a2)
1 / 3

https://dl.doubtnut.com/l/_YfSAfq7jJZic
https://dl.doubtnut.com/l/_VM9mCINGvdUJ


D. 

Answer: B

Watch Video Solution

(r2 + b2 + a2)
1 / 3

108. The limiting points of the coaxal system  are

A. 

B. 

C. 

D. (1,3)

Answer: A

Watch Video Solution

x2 + y2 + 2λx + 4 = 0

( ± 2, 0)

(0, ± 3)

(0, 2)

109. The limiting points of the coaxal system  arex2 + y2 + 2μy + 9 = 0

https://dl.doubtnut.com/l/_VM9mCINGvdUJ
https://dl.doubtnut.com/l/_OUDcNpqqNN3i
https://dl.doubtnut.com/l/_WZ2arV07DVIZ


A. 

B. 

C. 

D. (1,3)

Answer: B

Watch Video Solution

( ± 2, 0)

(0, ± 3)

(0, 2)

110. The equation to the coaxal system having the limiting points

 is

A. 

B. 

C. 

D. 

Answer: B

(0, ± 5)

x2 + y2 + 2λx + 9 = 0

x2 + y2 + 2μy + 25 = 0

x2 + y2 + 2λx + a2 = 0

3x2 + 3y2 + 2λx + 16 = 0

https://dl.doubtnut.com/l/_WZ2arV07DVIZ
https://dl.doubtnut.com/l/_KE0Lqyc8S2sA


Watch Video Solution

111. The equation to the coaxal system having the limiting  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( ± a, 0)

x2 + y2 + 2λx + 9 = 0

x2 + y2 + 2μy + 25 = 0

x2 + y2 + 2λx + a2 = 0

3x2 + 2y2 + 2λx + 16 = 0

112. The system of circles is  is

A. intersecting

B. nonintersecting

C. touching

x2 + y2 + 2λx − 5 = 0

https://dl.doubtnut.com/l/_KE0Lqyc8S2sA
https://dl.doubtnut.com/l/_QjfsKMjKJf74
https://dl.doubtnut.com/l/_5lTVhpq6NWEJ


D. none

Answer: A

Watch Video Solution

113. The system of circle  is

A. intersecting

B. nonintersecting

C. touching

D. none

Answer: C

Watch Video Solution

x2 + y2 − 2μy = 0

https://dl.doubtnut.com/l/_5lTVhpq6NWEJ
https://dl.doubtnut.com/l/_xCeiHx4qyEvE


114. The condition for the coaxial system  , where 

 is parameter and c is a constant , to have distinct limiting points is

A. c= 0

B. 

C. c = - 1

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2λx + c = 0

λ

c < 0

c > 0

115. The equation to the line joining the centres of the circles belonging

to the coaxial system of circles 

 is

A. 

B. 

4x2 + 4y2 − 12x + 6y − 3 + λ(x + 2y − 6) = 0

8x − 4y − 15 = 0

8x − 4y + 15 = 0

https://dl.doubtnut.com/l/_XxQGstDyAZ0G
https://dl.doubtnut.com/l/_fEQdgTXXmRWk


C. 

D. 

Answer: A

Watch Video Solution

3x − 4y − 5 = 0

3x − 4y + 5 = 0

116. The limiting points of the coaxal system 

 is

A. (-2,-1),(0,-3)

B. (21),(-5.-6)

C. (21),(03)

D. (5.2)(5.6)

Answer: A

View Text Solution

x2 + y2 + 11x − 5y − 2 + λ(x − y − 1) = 0

https://dl.doubtnut.com/l/_fEQdgTXXmRWk
https://dl.doubtnut.com/l/_8kJUnIPkWMJV
https://dl.doubtnut.com/l/_7gR3nb1gIU3X


117. The limiting point of the coaxal system 

 are

A. (-2,-1),(0,-3)

B. (1,2),(3,1)

C. (1,5), (5,3)

D. (-7,-9),(3,-1)

Answer: A

View Text Solution

x2 + y2 + 5x + y + 4 + λ(x2 + y2 + 10x − 4y − 1) = 0

118. The limiting points of the coaxal system determined by the circles 

 are

A. (2,1) ,(0,3)

B. (-2,1),(0,3)

C. (-2,-1),(0,-3)

x2 + y2 + 2x + 4y + 7 = 0, x + y2 + 4x + 2y + 5 = 0

https://dl.doubtnut.com/l/_7gR3nb1gIU3X
https://dl.doubtnut.com/l/_ZUb063Hk4Ntf


D. (2,-1),(0,3)

Answer: C

View Text Solution

119. The limiting points of the co-axal system containing the two circles 

are

A. (-1,1) (-5,-40)

B. (1,-1),(-1/5,- 8/5)

C. (-1,1),(1/5,8/5)

D. (-1,1),(-1/5, - 8/5)

Answer: C

View Text Solution

x2 + y2 + 2x − 2y + 2 = 0  and 25(x2 + y2) = 10x − 80y + 65 = 0

https://dl.doubtnut.com/l/_ZUb063Hk4Ntf
https://dl.doubtnut.com/l/_wlZj69o1PNpl
https://dl.doubtnut.com/l/_7MI8nDTClY4c


120. One limiting point of the coaxal system of circles containing 

 is

A. (-1,1)

B. (-1,2)

C. (-2,1)

D. (-2,2)

Answer: A

View Text Solution

x2 + y2 − − 6x − 6y + 4 = 0  and x2 + y2 − 2x − 4y + 3 = 0

121. If (2,1) is limiting point of the coaxa system of which 

 is a member, then the other limiting point is

A. (-5,-6)

B. (5,6)

C. (3,5)

x2 + y2 − 6x − 4y − 3 = 0

https://dl.doubtnut.com/l/_7MI8nDTClY4c
https://dl.doubtnut.com/l/_YuJByY0fkQ5N


D. (-8,-13)

Answer: A

View Text Solution

122. Origin is a limiting point of a coaxal system of which 

 is a member . The other limiting point is

A. (-2,-4)

B. (3/25,4/25)

C. (-3/35,-4/25)

D. (4/25,3/25)

Answer: B

Watch Video Solution

x2 + y2 − 6x − 8y + 1 = 0

https://dl.doubtnut.com/l/_YuJByY0fkQ5N
https://dl.doubtnut.com/l/_TDVjiHSzs6nW


123. The radical axis of the coaxal system of circles with limiting points

 and  is given by the equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 2) (4, 3)

3x − y + 10 = 0

3x + y − 10 = 0

3x + y + 10 = 0

x + 3y − 10 = 0

124. If (0,0) is one limiting point of a coaxal system of circles whose

common radical aixs is the line x + y = 1 then the other limiting point is

A. (1,1)

B. (-1,-1)

C. (1,-1)

https://dl.doubtnut.com/l/_P4qiWd3ftn8F
https://dl.doubtnut.com/l/_8Hz46h0knsSv


D. (-1,1)

Answer: A

View Text Solution

125. If (2,3)is one limiting point of a coaxal system of circles whose

common radical axis is the line x + y = 1 then the other limiting point is

A. (-3,-2)

B. (3,-4)

C. (0,3)

D. (0,-2)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_8Hz46h0knsSv
https://dl.doubtnut.com/l/_DJSpSksrBv2o


126. If (3,2) is one limiting point of a coaxal system of circles whose

common radical axis is  , then the other limiting point is

A. (1,1)

B. (2,2)

C. (2,1)

D. (3,2)

Answer: A

View Text Solution

4x + 2y = 11

127. If (1,2) is a limiting point of the coaxal system of circles containing the

circle 

 then the equation of the radical axes is

A. 

B. 

x2 + y2 + x − 5y + 9 = 0

x + 3y + 9 = 0

3x − y + 4 = 0

https://dl.doubtnut.com/l/_DCNliSRJ8DgB
https://dl.doubtnut.com/l/_ftgoTAOsXcbC


C. 

D. 

Answer: B

Watch Video Solution

x + 9y − 4 = 0

3x − y − 1 = 0

128. Two circles

 


touch each other A limiting point of the co-axal system determined by

them is

A. (3/2,-3)

B. (-3,-3)

C. (2,-3)

D. (3,-3)

Answer: D

Vi T t S l ti

x2 + y2 − 2x + 6y + 6 = 0  and x2 + y2 − 5x + 6y + 15 = 0

https://dl.doubtnut.com/l/_ftgoTAOsXcbC
https://dl.doubtnut.com/l/_FN8FoMqQXqyc


View Text Solution

129. If  

are members of a coaxal system of circles then centre of a point circle in

the system is

A. (-5,-6)

B. (5,6)

C. (3,5)

D. (-8,-13)

Answer: A

Watch Video Solution

x2 + y2 − 4x − 2y + 5 = 0  and x2 + y2 − 6x − 4y − 3 = 0

130. The coaxal system having limiting points (2,3), - (-3,2) is

A. x2 + y2 − 4x − − 6y + 13 + λ(5x + y) = 0

https://dl.doubtnut.com/l/_FN8FoMqQXqyc
https://dl.doubtnut.com/l/_dAzQ4zVGYTwk
https://dl.doubtnut.com/l/_JejhvPsoeAIK


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 14x − 18y + 23 + λ(14x + y) = 0

x2 + y2 − 4x − 6y − 13 + λ(5x − y) = 0

2x2 + 2y2 + 4x + 6y + 13 + 10λ(5x − 6y) = 0

131. A circle of the coaxal system with limiting points (0,0) and (1,0) is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x2 + y2 − 2x = 0

x2 + y2 − 6x + 3 = 0

x2 + y2 = 1

x2 + y2 − x + 1 = 0

https://dl.doubtnut.com/l/_JejhvPsoeAIK
https://dl.doubtnut.com/l/_ucXcCYIVwfPh
https://dl.doubtnut.com/l/_9kwm5TYnFM5r


132. The equation of the circle belonging to the coaxal system of which

(1,2)(4,3) ae the limiting points and passing through the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 2y2 − x − 7y = 0

9x2 + 9y2 − 14x − 30y + 16 = 0

9x2 + 9y2 − 52x + 46y + 105 = 0

x2 + y2 + 8x − 2y + 1 = 0

133. The equation of the circle belonging to the coaxal system of which

(2,-3),(0,-4) are the limiting points and passing through the point (2,-1) is

A. 

B. 

C. 

2x2 + 2y2 − x − 7y = 0

9x2 + 9y2 − 14x − 30y + 16 = 0

9x2 + 9y2 − 52x + 46y + 105 = 0

https://dl.doubtnut.com/l/_9kwm5TYnFM5r
https://dl.doubtnut.com/l/_qm92IlogSN0U


D. 

Answer: C

Watch Video Solution

x2 + y2 + 8x − 2y + 1 = 0

134. If (1,-2) is a limiting point of a coaxal system of which the circle 

 is a member , then the equation of a circle of

the system passing through origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − x − 2y − 1 = 0

6x2 + 6y2 − 7x − 6y = 0

16x2 + 16y2 − 17x − 16y = 0

x2 + y2 − 7x − 6y = 0

6x2 + 6y2 + 7x + 6y = 0

https://dl.doubtnut.com/l/_qm92IlogSN0U
https://dl.doubtnut.com/l/_aEQo7PgeHhSR
https://dl.doubtnut.com/l/_18WRwmJSNibB


135. The equation of the circle touching the line  and

belonging to the coaxal system having limiting points (2,0) , (-2,0) is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

3x − 4y − 15 = 0

x2 + y2 = 4

x2 + y2 + 5x + 4 = 0

x2 + y2 + 5x − 4 = 0

x2 + y2 − 5x + 4 = 0

136. The equation of the circle having a radius 2 and passing through the

limiting points of the coaxal system 

 is

A. 

B. 

x2 + y2 − 6 − 2λ(x + y − 4) = 0

x2 + y2 + ( − 4 ± 2√3)x + ( − 4 ± 2√3)y + 6 = 0

x2 + y2 + ( − 4 + 2√5)x + (13 + 2√5)y + 6 = 0

https://dl.doubtnut.com/l/_18WRwmJSNibB
https://dl.doubtnut.com/l/_FDIvKStPXXdI


C. 

D. 

Answer: A

View Text Solution

3x2 + 3y2 + ( − 14 ± 32√3)x + ( − 11 ± 2√5)y + 6 = 0

3x2 + 23y2 + (40 + 3√5)5c = (34 + 3√5)2y + 26 = 0

137. The equation of the circle belonging to the coaxal system having

limiting points 

 and orthogonal to the circle 

 is

A. 

B. 

C. 

D. 

Answer: C

Vi T t S l ti

(0, − 3), ( − 2, − 1)

x2 + y2 + 2x + 6y + 1 = 0

x2 + y2 + 8x + 2y + 1 = 0

x2 + y2 + 8x + 2y + 1 = 0

x2 + y2 + 8x − 2y + 1 = 0

x2 + y2 − 8x − 2y + 1 = 0

https://dl.doubtnut.com/l/_FDIvKStPXXdI
https://dl.doubtnut.com/l/_Z1xuHUXbv5iN


View Text Solution

138. P (-2,-1) and (0,-3) are the limiting points of a coaxial system of which

 is a member. The circle 

 is orthogonal to the circle C . The

point where the polar of P cuts the circle S is

A. (3,6)

B. (-3,6)

C. (-6,3)

D. (6,3)

Answer: D

View Text Solution

C ≡ x2 + y2 + 5x + y + 4 = 0

S ≡ x2 + y2 − 4x − 2y − 15 = 0

139. The conjugate system of the coaxal system

 is a paramter , isx2 + y2 + 2ax + 2by + 2λ(ax − by) = 0, λ

https://dl.doubtnut.com/l/_Z1xuHUXbv5iN
https://dl.doubtnut.com/l/_p81ttMMTdW6e
https://dl.doubtnut.com/l/_oOeWrmBXrAfr


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 + μ(x/a + y/b + 2) =

x2 + y2 + (2a − 2aλ)x + (2b + 2bλ)y = 0

x2 + y2 + (2a − 2aλ)x + (2b − 2bλ) = y = 0

x2 + y2 + (2a + 2aλ)x + (2b + 2bλ)y = 0

140. The coaxal system which is orthogonal to the coaxal system 

 is parameter is

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 + 2x − 3y − 1 + λ(x − 4y + 1) = 0, λ

5x2 + 5y2 − 14x − 6y + μ(8x + 2y + 5) = 0

15x2 + 15y2 − 44x − 56y + μ(18x + 22y + 15) = 0

5x2 + 5y2 − 14x − 6y − μ(8x − 2y − 5) = 0

15x2 + 35y2 − − 44x − 56y − μ(8x + 2y + 5) = 0

https://dl.doubtnut.com/l/_oOeWrmBXrAfr
https://dl.doubtnut.com/l/_khZqlXMmR8Xh


View Text Solution

141. The system of circle orthogonal to is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x2 + y2 + 2gx + 10 = 0

x2 + y2 − 2gx − 10 = 0

x2 + y2 − 2fy + 10 = 0

x2 + y2 + 2gx + 2fy + 10 = 0

x2 + y2 + 2fy − 10 = 0

142. If (-2,-1) is a limiting point of a coaxal system of which 

 

is a member, then the equation of the or the gonal system is

A. 

x2 + y2 + 2x + 4y + 7 = 0

(x2 + y2 + x + 3y) + λ(2x + 3y + 3) = 0

https://dl.doubtnut.com/l/_khZqlXMmR8Xh
https://dl.doubtnut.com/l/_YadZgE97sfGO
https://dl.doubtnut.com/l/_nlJnZ2QphlVK


B. 

C. 

D. 

Answer: B

View Text Solution

3(x2 + y2 + x + 3y) + λ(x + y + 3) = 0

3(x2 + y2 − x − 3y) + λ(x − y − 3) = 0

3(x2 + y2 + 2x + 3y) + 3λ(2x + 3y + 63) = 0

143. If the origin is the limiting point of a system of coaxal of which 

 is a member, then the equation of the

circle of the orthogonal system is

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 + 2gx + 2gy + c = 0

(x2 + y2)(g + λf) + 4c(3x + λy) = 0

(x2 + y2)(g + λf) + c(x + λy) = 0

(3x2 + 3y2)(2g − 4λf) + c(x − λy) = 0

(x2 + y2)(g − λf) + c(x − λy) = 0

https://dl.doubtnut.com/l/_nlJnZ2QphlVK
https://dl.doubtnut.com/l/_zeRKGmcKJgQR


Exercise 2 Set 1

View Text Solution

144. If (1,2) ,(4,3) are the limiting points of a coaxal system , then the

equation of the circle in its conjugate system having minimum area is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 − 2x − 4y + 5 = 0

x2 + y2 − 8x − 6y + 25 = 0

x2 + y2 − 5x − 5y + 10 = 0

x2 + y2 + 5x + 5y − 10 = 0

1. The equation of the circle cutting orthogonally the circles 

 and passingx2 + y2 − 8x − 2y + 16 = 0, x2 + y2 − 4x − 4y − 1 = 0

https://dl.doubtnut.com/l/_zeRKGmcKJgQR
https://dl.doubtnut.com/l/_wIWgVjif8RQW
https://dl.doubtnut.com/l/_W1tE4YUvE2fn


through the point (1,1) is 

 .

A. only I is true

B. only II is true

C. both I and II are ture

D. neither I nor II true

Answer: A

View Text Solution

3x2 + 2y2 − 14x + 23y − 15 = 0

2. The equation of the circle which cuts orthogonally the three circles,

is

A. only I is true

B. only II is true

C. both I and II are ture

x2 + y2 + 2x + 17y + 4 = 0, x2 + y2 + 7x + 6y + 11 = 0, x2 + y2 − x +

https://dl.doubtnut.com/l/_W1tE4YUvE2fn
https://dl.doubtnut.com/l/_3YicgPiA4HfR


D. neither I nor II true

Answer: B

Watch Video Solution

3. The equation of the circle described on the common chord of the

circles  as diameter is

A. only I is true

B. only II is true

C. both I and II are ture

D. neither I nor II true

Answer: C

Watch Video Solution

x2 + y2 + 2x = 0, x2 + y2 + 2y = 0

https://dl.doubtnut.com/l/_3YicgPiA4HfR
https://dl.doubtnut.com/l/_T2A9uyo3aD0T


4. Find the equation of the circle which passes through the origin and

intersects the circles below, orthogonally. 

. 


A. only I is true

B. only II is true

C. both I and II are ture

D. neither I nor II true

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 − 8y + 12 = 0.

5. The radical centre of the three circles described on the three sides of a

triangle as diameter is ......... of the triangle

A. only I is true

https://dl.doubtnut.com/l/_8iPQdnWNUUO5
https://dl.doubtnut.com/l/_96tMSbbSMEc1


B. only II is true

C. both I and II are ture

D. neither I nor II true

Answer: C

Watch Video Solution

6. If A, B, C are the centres of three circles touching mutually externally

then the radical centre of the circles for ABC is

A. only I is true

B. only II is true

C. both I and II are ture

D. neither I nor II true

Answer: A

Watch Video Solution

△

https://dl.doubtnut.com/l/_96tMSbbSMEc1
https://dl.doubtnut.com/l/_MyFB5dZTntNd


7. If the eqution of the circle cutting orthogonally the circles 

 and which has its its

centre on the line x + 2y = 5 is 

 then the dessending order of a,b,c is

A. a,b,c

B. b,c,a

C. b,a,c

D. a,c,b

Answer: A::B

View Text Solution

x2 + y2 − 6x = 0, x2 + y2 + 4x + 3y + 1 = 0

x2 + y2 − 2ax − 2by + c = 0

8. If the equation of the circle passing through the origin and the point of

intersection of the two circles 

https://dl.doubtnut.com/l/_MyFB5dZTntNd
https://dl.doubtnut.com/l/_U9rcXNKRDhsQ
https://dl.doubtnut.com/l/_Id1qkqrZv7wd


then the ascending order of a,b,c is

A. a,b,c

B. b,c,a

C. b,a,c

D. a,c,b

Answer: A::C

View Text Solution

x2 + y2 − 4x − 6y − 3 = 0, x2 + y2 + 4x − 2y − 4 = 0  is x2 + y2 + 2ax

9. If the equation of the circle cutting the circle

 


orthogonally and coxal with the circles 

then the ascending order of a,b,c is

A. a,b,c

x2 + y2 + 2x − 4y + 8 = 0

x2 + y2 + 6x + 4y − 12 = 0, x24x − 6y − 12 = 0  is x2 + y2 + 2ax + 2by

https://dl.doubtnut.com/l/_Id1qkqrZv7wd
https://dl.doubtnut.com/l/_Wr2GvU7U711s


Exercise 2 Set 2

B. b,c,a

C. b,a,c

D. a,c,b

Answer: C::D

View Text Solution

1. If the equation of the circle which cuts orthogonally the circle 




and having centre at (2,3) is  then the

assending order of a, b, c is

A. a,b,c

B. b,c,a

C. b,a,c

x2 + y2 − 4x + 2y − 7 = 0

x2 + y2 = 2ax + 2by + c = 0

https://dl.doubtnut.com/l/_Wr2GvU7U711s
https://dl.doubtnut.com/l/_awdVtTbxWCTE


Exercise 2 Set 3

D. a,c,b

Answer: A::C

View Text Solution

1. Match the following. 

I . If  


Cut othogonally then k = 

II . If  


cut orthognal then k = 

III. If  


cut orthogonally then k =

A. a,b,c

B. b,c,a

C. c,b,a

x2 + y2 − 6x − 8y + 12 = 0, x2 + y2 − 4x + 6y + k = 0    a) 1

x2 + y2 + 2x + 3y + k = 0, x2 + y2 + 8x − 6y − 7 = 0   b) - 10

x2 + y2 + 2x − 2y + 4 = 0, x2 + y2 + 4x − 2ky + 2 = 0  c) - 24

https://dl.doubtnut.com/l/_awdVtTbxWCTE
https://dl.doubtnut.com/l/_t9tPKgLDEGZJ


D. a,c,b

Answer: A::C

View Text Solution

2. Match the following . 

A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,b

Answer: A::B

View Text Solution

Circles

I. x2 + y2 = 1  ,x2 + y2 − 2x = 1,x2 + y2 − 2y = 1

II. x2 + y2 − x + 3y − 3 = 0, x2 + y2 − 2x + 2y + 2 = 0, x2 + y2 + 2x

III. x2 + y2 − 8x + 40 = 0,x2 + y2 − 5x + 16 = 0,x2 + y2 − 8x + 16y +

https://dl.doubtnut.com/l/_t9tPKgLDEGZJ
https://dl.doubtnut.com/l/_evSHaQ0Nejuu
https://dl.doubtnut.com/l/_QNnCEPadkbEn


Exercise 2 Set 4

3. Match the following . 

A. a,b,c

B. b,a,c

C. c,a,b

D. a,c,b

Answer: B::C

View Text Solution

Limiting point  Radical axis

I. (1,2),(4, 3)   a)x + y + 4 = 0 

II. (2,1),( − 5, − 6) b)(3x + y - 10 =0 )

III. (3,2),(1,1) c)(4x + 2y - 11=0)

1. A : If  cut each

other orthogonally then k = 10 . 

R : The circles

x2 + y2 − 2x + 3y + k = 0, x2 + y2 + 8x06y − 7 = 0

https://dl.doubtnut.com/l/_QNnCEPadkbEn
https://dl.doubtnut.com/l/_J3ExRO2xisOc


 cut

each other orthogonally iff 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not corrcet explanation of A

C. A is true but R is false

D. A is false but R is true .

Answer: A::D

View Text Solution

x2 + y2 + 2gx + 2fy + c = 0, x2 + y2 + 2g' x + 2f' y + c' = 0

2gg' + 2ff' = c + c'

2. A: The equation tha common chord of the two circles 

.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not corrcet explanation of A

C. A is true but R is false

x2 + y2 + 2x + 3y + 1 = 0, x2 + y2 + 4x + 3y + 2 = 0  is 2x + 1 = 0

https://dl.doubtnut.com/l/_J3ExRO2xisOc
https://dl.doubtnut.com/l/_i0W2pSlojzFg


D. A is false but R is true .

Answer: A::B

View Text Solution

3. A : The radical centre of the circles

 is

(0,0). 

R : Radical centre of three circles is the point of concurrence of the

radical axes of the circles taken in pairs .

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not corrcet explanation of A

C. A is true but R is false

D. A is false but R is true .

Answer: A::C

View Text Solution

x2 + y2 + 4, x2 + y2 − 3x = 4, x2 + y2 − 3x = 4, x2 + y2 − 4y = 4

https://dl.doubtnut.com/l/_i0W2pSlojzFg
https://dl.doubtnut.com/l/_4VMzd1lc4OlU


4. A: If origin is a limiting point of the coaxal system containing the circle 

 then the other limiting point is 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not corrcet explanation of A

C. A is true but R is false

D. A is false but R is true .

Answer: A::D

View Text Solution

x2 + y2 + 2gx + 2fy + c = 0

( , )
−gc

g2 + f 2

−fc

g2 + f 2

https://dl.doubtnut.com/l/_4VMzd1lc4OlU
https://dl.doubtnut.com/l/_VgxdWAqGic3L

